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B 5 ﬁ{ﬁ giﬁ?% 48118 5H9H| 6813H| 7H11H 8H8H| 9R12H 1081780 118148 128128 1A168| 2A138| 3A131
KB — — 9:06] 9:00[ 9:03] 9:20] 9:08] 9:13 9:07 9:07 9:03] 9:12] 90 9:1
x5 — - [ ) = & & & ) i i ) 55l 5
KB °C — 15.8] 185] 207] 222] 26.1[ 250 22.8 18.4 152] 11.4] 105] 12.6
PH pH [58—8.6 7.7 7.7 7.8 7.6 7.4 7.6 7.6 75 75 75 7.1 7.2
BOD mg/2 60 <0.5 05[] <05[ <05] <05] <05 0.5 <0.5 <05] <05] <05 <05
CcOoD mg/2 90 0.6 0.8 16 <05] 1.3 1.9 2.6 1.7 2.1 2.3 1.9 2.1
SS mg/2 60 A4 <1 A4 <1 A4 <1 <1 <1 <1 A4 <1 A4
=EXxEFE mg/¢ 120 9.1 9.1 8.9 7.7 7.8 7.3 75 6.6 7.8 7.3 6.9 7.0
Bk AA | mg/o — 75 58 63 62 62 57 73 86 86 93 99 90
BEBRFE=E mg/Q — 10.0 8.8 8.9 8.0 8.7 8.4 8.2 9.0 9.9 11 10 10
AGEES | /e (3000) <30] <30] <30] <30l <30] <30 <30 <30 <30]  <30]  <30] <30
HRIYLRUEEEH | mg/Q 0.03 <0.003
STFUEEY | me/L 1 nd
i) LE| me/e 1 nd
wRUOZOEEM| me/Q 0.1 <0.02
Affignsitam| me/e 0.5 <0.04
EERUZOIEEY]| mg/Q 0.1 <0.01
FLELKEEET | mg/Q nd nd
PCB mg/2 | 0.003 nd
Jz/—\VEaEE| mg/Q 5 <0.025

u HEHE mg/2 3 <0.01

;| ESREHE | me/e 2 0.13

x BEMREREE] mg/Q 10 0.1
BNV aER| mg/l 10 <0.1
YALEEE | mg/ 2 <0.04
SoRRUZOEAW | mg/Q 8 0.2
oEsERERTY | mg/Q (8) 0.02(8)
kypoaTFLY| me/e 0.1 <0.002
FhSoa0IFLY | mg/Q 0.1 <0.001
oHO0024y | mg/e 0.2 <0.02
migfkxE mg/Q [ 0.02 <0.002
12—oonnx4r | mg/Q 0.04 <0.004
ti—soanIFLy| mg/Q 1 <0.02
v2—12-vyanzFLy | mg/Q 04 <0.002
ti1—ryyoozse [ mg/Q 3 <0.001
t12—rysoozse [ mg/Q 0.06 <0.006
13-voon7o~y| mg/e | 0.02 <0.002
FI5.L mg/2 | 0.06 <0.006
RO mg/2 | 0.03 <0.003
FARUAHILT| mg/L 0.2 <0.02
oty mg/Q 0.1 <0.01
ELURUZEDEEY | mg/Q 0.1 <0.01
IE3RRUENEEY | mg/Q 10 0.6
14—SA% 5| mg/e 0.5 <0.05
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EE B s 48118| 5A98| 6A13A| 7A11A 8AsA| 9A128| 108178| 118148| 128128| 1A168| 28138| 38138
FEIK %I — - 9:10 9:24 9:15 9:17
x5 — - B i ) )
KB °C — 15.2 21 22.8 11.9
sz [PH pH [5.8—86 8.3 7.8 8.4 8.3
A [BOD mg/Q 60 <0.5 1 0.5 <05
X coD mg/Q 90 4.7 5.3 3.6 6.3
SS mg/Q 60 25 11 1 98
=EXEF= mg/2 | 120 8.9 8.6 75 6.7
TBiemA4> | mg/e — 24 20 20 29
BEEEEs | mg/ — 10 9.6 9.1 10
o [BoKEEZl - - 9:12] 9:13] 9:13]  9:33] 9:18] 9:18]  9:21 9:16] 914 9:28] 9:12] 9
'§| X5 - - B ) ) = B B = i B ) 55 55
x| BESIEEE | mS/m — 14 19 13 7.7 11 12 13 15 12 16 18 18
T EemFs [ mg/e — 1.3 1.2 1.1 0.3 0.4 0.5 0.6 1.0 1.7 1.6 1.5 1.6
FEIKEEZI - - 9:41
x5 - - )
KB - - 19.3
AN N mg/2 | 0.003 <0.0003
2TV mg/Q nd nd
) mg/2 | 0.01 <0.005
paN[iZA=PN mg/Q | 0.05 <0.01
=3 mg/2 | 0.01 <0.005
K ER mg/2 | 0.0005 <0.0005
ZILXJLIKER | mg/Q nd nd
sOoO0TFL>| mg/e | 0.002 <0.0002
RYEIETT=)L | mg/Q nd nd
soroorFy [ mg/e | 0.02 <0.002
% miEfkkE | me/2 | 0.002 <0.0002
AN [12—<ooozso | mg/e | 0.004 <0.0004
H [i-cooazFLe| mg/g 0.1 <0.002
B |12-yonxFLo| mg/Q 0.04 <0.004
K |tai-rusoozse | mg/e | 1.0 <0.0005
t12—kysonzsy | mg/Q 0.006 <0.0006
ryzonzFL> | mg/e [ 0.01 <0.001
Fr5o0axFL> | mg/e | 0.01 <0.0005
13-ooan74~> | mg/e | 0.002 <0.0002
oty mg/2 | 0.01 <0.001
FIS5 L mg/2 | 0.006 <0.0006
DY mg/¢ | 0.003 <0.0003
FARUAILT| mg/e | 0.02 <0.002
L mg/Q | 0.01 <0.002
R R UEMSERE mg/Q 10 <0.07
vk mg/¢ 0.8 <0.05
INPEA mg/Q 1 <0.05
14->Ax%> ] mg/e | 005 <0.005
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ER BT | femm 4H118 TR11H 10R17H 1A16H
EKEZI — - 9:37 9:56 9:35 9:44
X - - (5 5 = =
7K m — - 16.2 17.5 17.2 16.8
ARS) L mg/Q | 0.003 <0.0003 <0.0003 <0.0003 <0.0003
ED mg/2| nd nd nd nd nd
£ mg/2 [ 0.01 <0.005 <0.005 <0.005 <0.005
AN iZ=PN mg/2 | 0.05 <0.01 <0.01 <0.01 <0.01
Ex mg/Q | 0.01 0.006 0.013 0.014 0.009
kIR mg/2 | 0.0005 <0.0005 <0.0005 <0.0005 <0.0005
7L )LKER mg/Q| nd nd nd nd nd
HOOIFL2 mg/2 | 0.002 <0.0002 <0.0002 <0.0002 <0.0002
HAYBIEEDT=)L [ mg/2| nd nd nd nd nd
HOQAey mg/Q | 0.02 <0.002 <0.002 <0.002 <0.002
migibix % mg/Q2 | 0.002 <0.0002 <0.0002 <0.0002 <0.0002
1.2—o4-/00x42 | mg/2 | 0.004 <0.0004 <0.0004 <0.0004 <0.0004
1.1—29700TFL2 | mg/Q| 0.1 <0.002 <0.002 <0.002 <0.002
1.2->700TFLY | mg/2 | 0.04 <0.004 <0.004 <0.004 <0.004
111—r)ZOaTA> | mg/e| 1.0 <0.0005 <0.0005 <0.0005 <0.0005
1.1.2—rk)Zoax4> | mg/e | 0.006 <0.0006 <0.0006 <0.0006 <0.0006
k)oooIFLY mg/2 | 0.01 <0.001 <0.001 <0.001 <0.001
ThZyOOTFLY | mg/e| 0.01 <0.0005 <0.0005 <0.0005 <0.0005
1,3-29087A X2 [ mg/e | 0.002 <0.0002 <0.0002 <0.0002 <0.0002
vy mg/2 | 0.01 <0.001 <0.001 <0.001 <0.001
FIOS5L mg/2 | 0.006 <0.0006 <0.0006 <0.0006 <0.0006
O mg/2 | 0.003 <0.0003 <0.0003 <0.0003 <0.0003
FARAILD mg/Q | 0.02 <0.002 <0.002 <0.002 <0.002
L mg/2 | 0.01 <0.002 <0.002 <0.002 <0.002
EHERRCEMBEER | mg/Q | 10 <0.07 £0.07 <0.07 £0.07
PES mg/Q| 0.8 0.14 0.31 0.33 0.18
INPER mg/Q| 1 0.26 0.37 0.38 0.27
1.4-OFF Y2 mg/2 | 0.05 0.005 0.005 <0.005 0.007
— S mg/Q | 0.002 3 BHIhT 31 6
PN — nd it E3ES EtE PE T4
EiemA14> mg/Q | 200.0 53 39 38 45
&Y mg/0| 3.0 35 5.8 5.8 5.2
EHERRCEMBEEER | mg/0 | 10.0 <0.1 <0.1 <0.1 <0.1
PH{E — |58~86 6.6 7.0 6.9 6.9
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an T gﬁ% 4A118 7B118| 108178 18168
EKEZI — - 9:57 10:11 9:56 9:59
K= - — {5 & 551 £
7K m — - 18.0 18.8 20.7 16.9
ARE) L mg/Q | 0.003 <0.0003 <0.0003 <0.0003 <0.0003
ED mg/2| nd nd nd nd nd
£n mg/Q | 0.01 <0.005 <0.005 <0.005 <0.005
AN iZ=PN mg/2 | 0.05 <0.01 <0.01 <0.01 <0.01
Ex mg/2 | 0.01 <0.005 <0.005 <0.005 <0.005
kIR mg/2 | 0.0005 <0.0005 <0.0005 <0.0005 <0.0005
7L )LKER mg/Q| nd nd nd nd nd
/OOIFL2 mg/2 | 0.002 <0.0002 <0.0002 <0.0002 <0.0002
HAYBIEEDT=)L [ mg/2| nd nd nd nd nd
HOoQAey mg/Q | 0.02 <0.002 <0.002 <0.002 <0.002
migibix % mg/Q2 | 0.002 <0.0002 <0.0002 <0.0002 <0.0002
12—>908I4%2 | mg/2 | 0.004 <0.0004 <0.0004 <0.0004 <0.0004
11—o4yo00xFL  mg/e| 0.1 <0.002 <0.002 <0.002 <0.002
1.2->700TFLY | mg/2 | 0.04 <0.004 <0.004 <0.004 <0.004
111—r)Z0OaTA> | mg/e| 1.0 <0.0005 <0.0005 <0.0005 <0.0005
1.1.2—k)Zoax4> | mg/e | 0.006 <0.0006 <0.0006 <0.0006 <0.0006
rJyooIFLY mg/2 | 0.01 <0.001 <0.001 <0.001 <0.001
ThZyOOTFLY | mg/e| 0.01 <0.0005 <0.0005 <0.0005 <0.0005
1,3-29087A X2 [ mg/e | 0.002 <0.0002 <0.0002 <0.0002 <0.0002
vy mg/2 | 0.01 <0.001 <0.001 <0.001 <0.001
FIOS5L mg/2 | 0.006 <0.0006 <0.0006 <0.0006 <0.0006
O mg/Q | 0.003 <0.0003 <0.0003 <0.0003 <0.0003
FARAILD mg/Q | 0.02 <0.002 <0.002 <0.002 <0.002
L mg/2 | 0.01 <0.002 <0.002 <0.002 <0.002
REHERRCEMRBEER | mg/Q | 10 7.4 7.2 8.0 8.2
PES mg/Q | 0.8 <0.05 <0.05 <0.05 <0.05
INPER mg/Q| 1 0.36 0.38 0.37 0.34
1.4-OFF Y2 mg/2 | 0.05 <0.005 <0.005 <0.005 <0.005
— = mg/Q | 0.002 BHEShT| BRHEINT| BREINT| BmHESIIT
PN — nd =t E3ES =t PETE
BieYA4 mg/2 | 200.0 24 23 23 23
Y mg/Q | 3.0 0.5 0.5 0.5 0.6
EEtERRCEREEEE| mg/0 | 10.0 7.8 7.8 7.6 8.0
PH{& — |58~86 5.3 5.4 5.3 5.4
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OfAEZAr TR TK

Tt Tk
PAN

- 27 s |Fus|  4AnB| 7ANB| w0AvE| 188
EKEZ — - 10:10 10:54 10:1 10:16
XK= - - iE & 55 =
K5 - - 16.2 27.0 22.7 10.5
HARE) L mg/2 | 0.003 <0.0003 <0.0003 <0.0003 <0.0003
=T mg/Q| nd nd nd nd nd
£ mg/Q [ 0.01 <0.005 <0.005 <0.005 <0.005
7l7 0L mg/2 | 0.05 <0.01 <0.01 <0.01 <0.01
Ex mg/Q [ 0.01 <0.005 <0.005 <0.005 <0.005
Bk ER mg/2 | 0.0005 <0.0005 <0.0005 <0.0005 <0.0005
7L JLIKER mg/Q nd nd nd nd nd
AOOIFL> mg/2 | 0.002 <0.0002 <0.0002 <0.0002 <0.0002
R)BIEEDT=)L | mg/2| nd nd nd nd nd
SHOooras mg/2 | 0.02 <0.002 <0.002 <0.002 <0.002
Mgk mg/2 | 0.002 <0.0002 <0.0002 <0.0002 <0.0002
1.2—>4~700xT43> [ meg/e] 0.004 <0.0004 <0.0004 <0.0004 <0.0004
11—>/0aTFL> | mg/e| 0.1 <0.002 <0.002 <0.002 <0.002
1.2->700TFL> [ mg/e ]| 0.04 <0.004 <0.004 <0.004 <0.004
T11—K)7Oo0Ta> | mg/2| 1.0 <0.0005 <0.0005 <0.0005 <0.0005
11.2—r)ooaxa> | mg/e | 0.006 <0.0006 <0.0006 <0.0006 <0.0006
ORI mg/2 | 0.01 <0.001 <0.001 <0.001 <0.001
Tr>700TFL2 [ mg/2]| 0.01 <0.0005 <0.0005 <0.0005 <0.0005
1.3->4-/0077 R | mg/2 | 0.002 <0.0002 <0.0002 <0.0002 <0.0002
R mg/Q [ 0.01 <0.001 <0.001 <0.001 <0.001
F5. mg/2 | 0.006 <0.0006 <0.0006 <0.0006 <0.0006
RO mg/2 | 0.003 <0.0003 <0.0003 <0.0003 <0.0003
FARUAILD mg/2 | 0.02 <0.002 <0.002 <0.002 <0.002
L mg/Q [ 0.01 <0.002 <0.002 <0.002 <0.002
Bt ERRUERREZE | mg/0 | 10 0.16 0.21 0.20 0.17
TvE mg/2| 0.8 0.09 0.10 0.10 0.10
INPE S mg/Q ] 1 <0.05 <0.05 <0.05 <0.05
1.4-OAFH> mg/2 | 0.05 <0.005 <0.005 <0.005 <0.005
— R = mg/2 | 0.002 20 330 330 31
PN — nd 514 [EYEd [EYE PE
EiemA4 mg/2 | 200.0 4.8 3.1 1.8 3.3
aRY mg/2 [ 3.0 1.0 14 2.5 14
mEmttERRUERREEZE | mg/0 [ 10.0 0.2 0.2 0.2 0.2
PHIE — |58~86 7.2 7.1 7.1 7.4




